



Date: 09/01/2017

Page 1 of 4

ITY OF ARK & I		Bill To:						
CITY OF SAN DIEGO PARK & RECREATION DEPARTMENT 202 "C" STREET, FLOOR 5 SAN DIEGO CA 92101-4806 Vondor:				Billing Contact: DAVID TRAN Telephone: E-Mail:davidt@sandiego.gov				
				Buyer:	Katr	ina McDonal	d	
ondor II	<b>D</b> : 10017383 <b>Telephone:</b> 619-464-330	03 <b>E-Mail:</b> rafael@azteclandscap	ing com	Telepho	<b>ne:</b> 619	236-6038		
	D. 10017303 Telephone.013-404-330		ing.com	E-Mail:	KMN	/IcDonald@s	andiego	.gov
ne#	Item ID/Description	Del.Date	Quant	ity/UM	Un	nit Price	Exter	ded Price
1	LANDSCAPE MAINT - CAT II Mira Mesa MAD - Provide complete landscape r with BID# 10024288-13-W and OA# 460000160 06/30/2018			8 M	USD	10,455.03	USD	83,640.2
	DIR PROJECT ID:210805 IMPORTANT NOTICE TO CONTRACTOR: All in category performed and dollar amount per the co by total invoice amount.							
	Please include PO number on all invoices and e maranda@sandiego.gov or by U.S. mail to the b the PO to the ATTN: Manny Aranda. If questions Aranda at 619-685-1368.	pilling address as shown on						
	CERTIFICATES OF INSURANCE AND BUSINE REQUIRED.	ESS TAX LICENSE TO BE UPDATED AS						
	Item partially delivered							
2	LANDSCAPE MAINT - CAT III Mira Mesa MAD - Provide complete landscape r with BID# 10024288-13-W and OA# 460000160			8 M	USD	632.14	USD	5,057.1
	IMPORTANT NOTICE TO CONTRACTOR: All in category performed and dollar amount per the co by total invoice amount.							
	Please include PO number on all invoices and e maranda@sandiego.gov or by U.S. mail to the b the PO to the ATTN: Manny Aranda. If questions Aranda at 619-685-1368. Item partially delivered	billing address as shown on						
3	LANDSCAPE MAINT - CAT VA Item partially delivered	06/30/2018		8 M	USD	707.91	USD	5,663.2
4	LANDSCAPE MAINT - CAT VB Item partially delivered	06/30/2018		8 M	USD	2,286.66	USD	18,293.
5 ites: The	e Terms and Conditions of this Purchase Or	rder are available at http://sandiego.c	jov/purcha	ising/	SF		ST F	PAGF
IMPORTANT! ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be ected to Billing Contact person at Bill-To address listed above			-	FOR TOTAL				





Date: 09/01/2017

Page 2 of 4

ne#	Item ID/Description	Del.Date	Quantity/UN	1 1	Unit Price	Exten	ded Price
	LANDSCAPE MAINT - CAT VC Item partially delivered	06/30/2018	8	M USD	2,013.75	USD	16,110.0
6	LANDSCAPE MAINT - CAT VI Item partially delivered	06/30/2018	8	M USD	5,909.57	USD	47,276.5
7	LANDSCAPE MAINT - CAT XIA Item partially delivered	06/30/2018	8	M USD	4,006.36	USD	32,050.8
8	LANDSCAPE MAINT - CAT XIB Item partially delivered	06/30/2018	8	M USD	1,571.67	USD	12,573.3
9	LANDSCAPE MAINT - CAT XIIIA Item partially delivered	06/30/2018	8	M USD	991.66	USD	7,933.2
10	LANDSCAPE MAINT - CAT XIIIB Item partially delivered	06/30/2018	8	M USD	161.58	USD	1,292.6
11	LANDSCAPE MAINT - CAT XIIIC Item partially delivered	06/30/2018	8	M USD	868.39	USD	6,947.1
12	LANDSCAPE MAINT - CAT XIIID Item partially delivered	06/30/2018	8	M USD	38.40	USD	307.2
13	LANDSCAPE MAINT - EXTRA LABOR By performing the services detailed in this purchase ordi is entering into a contract with the City. Contractor certifi or she is aware of the wage provisions described herein with such provisions before commencing services. A. PREVAILING WAGES. Pursuant to San Diego Munic 22.3019, construction, alteration, demolition, repair and work performed under this Contract is subject to State p laws. For construction work performed under this Contra exceeding \$25,000 and for alteration, demolition, repair work performed under this Contract cumulatively exceed contractor and its subcontractors shall comply with State wage laws including, but not limited to, the requirements This requirement is in addition to the requirement to pay pursuant to San Diego Municipal Code sections 22.4201 Contractor must determine which per diem rate is highes classification of work (i.e. Prevailing Wage Rate or Living and pay the highest of the two rates to their employees. applies to workers who are not subject to Prevailing Wage 1. Compliance with Prevailing Wage Requirements. Pur- 1720 through 1861 of the California Labor Code, the Co subcontractors shall ensure that all workers who perform Contract are paid not less than the prevailing rate of per determined by the Director of the California Department Relations (DIR). This includes work performed during the preconstruction phases of construction including, but no inspection and land surveying work. 1.1. Copies of such prevailing rate of per diem wages a the City and are available for inspection to any interester request. Copies of the prevailing rate of per diem wages found at http://www.dir.ca.gov/OPRL/DPreWageDetermi	es that he and shall comply ipal Code section maintenance revailing wage lot cumulatively and maintenance ling \$15,000, the prevailing listed below. Living Wage through 22.4245. st for each g Wage Rate), Living Wage ge Rates. suant to sections intractor and its in work under this diem wages as of Industrial e design and t limited to, re on file at d party on also may be ination.htm.	25,946.66	EA USD	1.00	USD	25,946.6
otes: Th	ne Terms and Conditions of this Purchase Order are	available at http://sandiegc	o.gov/purchasing/	S	SEE LA	ST	PAGE
IMPORTANT! ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be ected to <i>Billing</i> Contact person at <i>Bill-To</i> address listed above					FOR	τοτ	AL





Date: 09/01/2017

Page 3 of 4

Line #	Item ID/Description	Del.Date	Quantity/UM	Unit Price	Extended Price
	·				
	rate of per diem wages determination at each job site and shall make them available to any interested party upon request.				
	1.2. The wage rates determined by the DIR refer to expiration dates.				
	If the published wage rate does not refer to a predetermined wage rate	•			
	to be paid after the expiration date, then the published rate of wage shall be in effect for the life of this Contract. If the published wage				
	rate refers to a predetermined wage rate to become effective upon				
	expiration of the published wage rate and the predetermined wage rate	e is			
	on file with the DIR, such predetermined wage rate shall become				
	effective on the date following the expiration date and shall apply to this Contract in the same manner as if it had been published in said				
	publication. If the predetermined wage rate refers to one or more				
	additional expiration dates with additional predetermined wage rates,				
	which expiration dates occur during the life of this Contract, each	_			
	successive predetermined wage rate shall apply to this Contract on the date following the expiration date of the previous wage rate. If the	9			
	last of such predetermined wage rates expires during the life of this				
	Contract, such wage rate shall apply to the balance of the Contract.				
	2. Penalties for Violations. Contractor and its subcontractors shall				
	comply with California Labor Code section 1775 in the event a worker paid less than the prevailing wage rate for the work or craft in which	IS			
	the worker is employed. This shall be in addition to any other				
	applicable penalties allowed under Labor Code sections 1720 – 1861.				
	3. Payroll Records. Contractor and its subcontractors shall comply wit	h			
	California Labor Code section 1776, which generally requires keeping				
	accurate payroll records, verifying and certifying payroll records, and making them available for inspection. Contractor shall require its				
	subcontractors to also comply with section 1776. Contractor and its				
	subcontractors shall submit weekly certified payroll records online via				
	the City's web-based Labor Compliance Program. Contractor is respon	nsible			
	for ensuring its subcontractors submit certified payroll records to the City. Contractor and their subcontractor(s) shall also furnish the				
	records specified in Labor Code section 1776 directly to the Labor				
	Commissioner in the manner required in Labor Code section 1771.4.				
	4. Apprentices. Contractor and its subcontractors shall comply with	the			
	California Labor Code sections 1777.5, 1777.6 and 1777.7 concerning employment and wages of apprentices. Contractor shall be held	line			
	responsible for the compliance of their subcontractors with sections				
	1777.5, 1777.6 and 1777.7.				
	5. Working Hours. Contractor and subcontractors shall comply with				
	California Labor Code sections 1810 through 1815, including but not limited to: (i) restrict working hours on public works contracts to				
	eight hours a day and forty hours a week, unless all hours worked in				
	excess of 8 hours per day are compensated at not less than $1^{\prime}_{2}$ times	the			
	basic rate of pay; and (ii) specify penalties to be imposed on design				
	professionals and subcontractors of \$25 per worker per day for each d the worker works more than 8 hours per day and 40 hours per week in	•			
	violation of California Labor Code sections1810 through 1815.				
	6. Required Provisions for Subcontracts. Contractor shall include at a				
	minimum a copy of the following provisions in any contract they enter				
	into with a subcontractor: California Labor Code sections 1771, 1771.1 1775, 1776, 1777.5, 1810, 1813, 1815, 1860 and 1861.	,			
	7. Labor Code Section 1861 Certification. Contractor in accordance w	ith			
	California Labor Code section 3700 is required to secure the payment				
	compensation of its employees and by signing this Contract, Contracto	or			
	certifies that "I am aware of the provisions of Section 3700 of the California Labor Code which require every employer to be insured aga	inst			
	liability for workers' compensation or to undertake self-insurance in				
	accordance with the provisions of that code, and I will comply with suc	h			
	provisions before commencing the performance of the work of this				
	Contract." 8. Labor Compliance Program. The City has its own Labor Complianc	e			
	Program authorized in August 2011 by the DIR. The City will withhold	-			
	contract payments when payroll records are delinquent or deemed				
	inadequate by the City or other governmental entity, or it has been				
	established after an investigation by the City or other governmental entity that underpayment(s) have occurred. For questions or assistance	e,			
Notes: T	he Terms and Conditions of this Purchase Order are available at	http://sandie	go.gov/purchasing/		1
					ST PAGE
	IMPORTANT!	FOR	TOTAL		
To onour	e promot payments. PO # must appear an all abiomasta	and invoice	e: all invoicos must ha	-	
directed f	e prompt payments, PO # must appear on all shipments o <i>Billing</i> Contact person at <i>Bill-To</i> address listed above	and invoice	s, all invoices must be		





Date: 09/01/2017

Page 4 of 4

Line#	Item ID/Description	Del.Date	Quantity/UM	Unit Price	Extended Price
	<ul> <li>please contact the City of San Diego's Equal Opportunity Contrat Department at 619-236-600.</li> <li>9. Contractor and Subcontractor Registration Requirements. This is subject to compliance monitoring and enforcement by the DIR. contractor or subcontractor shall not be qualified to bid on, be list in a bid proposal, subject to the requirements of Section 4104 of Public Contract Code, or engage in the performance of any contr public work, as defined in this chapter of the Labor Code unless currently registered and qualified to perform the work pursuant to Section 1725.5. In accordance with Labor Code section 1771.1.(is not a violation of this section for an unregistered contractor to submit a bid that is authorized by Section 7029.1 of the Business Professions Code or by Section 10164 or 2103.5 of the Public Code, provided the contractor is registered to perform public work pursuant to Section 1725.5 at the time the contract is awarded."</li> <li>9.1 A Contractor's inadvertent error in listing a subcontractor will is not registered pursuant to Labor Code section 1725.5 in a resp a solicitation shall not be grounds for filing a bid protest or ground for considering the bid non-responsive provided that any of the following apply: (1) the subcontractor is registered prior to bid opening; (2) within twenty-four hours after the bid opening; (2) within twenty-four hours after the bid poening; (2) within twenty-four hours after the bid poening; (2) within twenty-four hours after the bid poening; (2) within twenty-four hours after the bid poet code section 1725.5 or (3) the subcontractor for conclation, provided that a contract for public work shall not be unlawful, void, or voidable solely due to the failure of the awardin bidy, contractor, or any subcontractor to comply with the PRI in complia with abort Code section 1771.1 (a) 1725.5, and Contract responsive provided that all subcontractor section 1725.5 or (3) the subcic to section 1725.5 this contract is subject to the City's Living Wage Critination with t</li></ul>	s project A ed the act for a), "[i]t and ontract k ho ionse to ds fee s tract r in g ments ractor d ance all provide ge 2.4245. The benefits ch O wage SDMC o covered to s sultions section rrmination dinance			
iotes: []	he Terms and Conditions of this Purchase Order are availab	ie at nttp://sandlegc	.gov/purchasing/	Line Item Total	\$        263,091.63
	IMPORTANT!				- 0.00
) ensur rected t	e prompt payments, PO # must appear on all shipme o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abov	ents and invoices; /e	all invoices must be	PO Total	\$ 263,091.62